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Algebra1S2
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Lesson: April 21st, 2020

Objective: Students will be able to simplify radicals



Warm-Up: Reviewing Factor Trees

Quick Review: You Try!
Use a factor tree to find the Find the prime factors of. . .
prime factors of 30.
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Note: A prime number is a number that can

only be divided by one and itself Helpful Tool: Multiplication Chart



https://prodprodigy.wpengine.com/wp-content/uploads/Multiplication-Chart.pdf

Warm-Up: Reviewing Factor Trees (Answers)
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Note: It's ok if your factor trees look different than these, as long as you end up with
the same prime factors.



Warm-Up: Perfect Squares & Square Roots

. 1 2 3 o 5 6 7 8 ? (100 11 12
What is a perfect square? Where

can you find them in the Il : 2+« s ¢ 75 5 0w
multlpllcatlon Chart’) 2 2 . 6 8 || 10 12 |14 |16 118 | 20 22 24
3 3 6 . 12 15 :18 |21 |24 127 | 901 3 |36
Click here for a larger view of the M 4 s 12 . 20 24 28 32 36 40 44 48
Multiplication Chart 8 5 10 15 20 . 30 35 40 45 50 55 60
6 6 12 18 24 30 . 42 48 54 60 66 72
7 7 24 N24% R28| RSN L g2 . 56 63 70 77 84

8 8 16 24 32 40 48 56 . 72 80 88 96
B 9 18 27 36 45 54 &3 72 . 90 99 108
10 10 20 30 40 50 60 70 80 90 . 110 120

g 11 | 22 33 44 55 66 77 88 99 110.132

12 12 24 36 48 60 72 84 96 108 120 132-


https://prodprodigy.wpengine.com/wp-content/uploads/Multiplication-Chart.pdf

Warm-Up: Perfect Squares & Square Roots

A perfect square is the product of a2 2. |9 | 4
a number times itself. The perfect

squares in the multiplication chart 1
are the green diagonal numbers.

1x1=
2X2= 3
3x3=
4 x4 = 4




Warm-Up: Perfect Squares & Square Roots

What is a square root? \What does \/T —
the square root symbol look like?

A square root is the number that \/Z —
when multiplied by itself makes

some other number (sometimes a /9 = 3

perfect square).
Square root symbol is




Warm-Up: Perfect Squares & Square Roots

Find the square root. If the answer is not an integer (whole number) then
estimate what two numbers the square root would fall between.

For example: V17 Since 17 is not a perfect square, the answer will be a

decimal. | know thatthe \/16 = 4 so the 4/17 must be a little more than
4 but less than 5 (since V25 = 5).

Find the square root (or estimate what two numbers it falls between).

V49 V38 V80 V100



Warm-Up: Perfect Squares & Square Roots

Answers

V49 V38 V80 V100

Between 6 and 7, Between 8 and 9,

V4 but closer to 6 since but closer to 9 since 10
V36 =6 V81 =9

***Important Note***
In each of these square root examples, | have only given the positive

answer. It is important to remember that in our study of quadratics we will

use both the positive and negative answers of the square root.

So, BOTH answers for1/49 are 7 and -7.
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Today’s Lesson

NDEPENDENCE SCHOOL DISTRIC

In today’s lesson we will be simplifying radicals to their exact
values.

Go ahead and click below to get started with today’s video.

Ex2: /363 Ex¥ 175
A A

NFIE w/ilsﬁ
I P

=113 =5V7 O 7

Perfect 12 22 32 42 5% 6% 7 8 9 10% 11?2 122
Square List: 1, 4, 9, 16, 25, 36, 49, 64, 81,100, 121, 144



http://www.youtube.com/watch?v=8gpzuuzQeyI

Jospiv ﬁrmﬁesﬁ
Today’s Examples

NDEPENDENCE SCHOOL DISTRIC

Ex1: /12 Ex 2:
Ex3: /175 Ex 4:
Ex 5: +/512,2 Ex 6:

Ex 7: \/343x3 2 10 Ex 8:

8, 64x4ysz3
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1) V144 2) \[8_ 3) \/& 4) 252
5) \/50v 6) 196k’ 7) 364> 8) V112v

9) \48x%y? 0) V72x%? 11) V45ab* 12) /28x%7”
5 7
13) \150h%k* 14) \/320h%k> 15) V8x*yz 16) N294m*n’p



Today’s Independent Practice

Simplify:

1) V144 = 2) \/‘5\ =242

2
A4 42
2

1
3) V98 =72 4) \252 = 64/7
«/‘TQZ_ 36

:

7



Today’s Independent Practice

Simplify:

5) Vs0v = 5+/2v 6) \/1261(3 = 14k vk
VINT N
7e2

7) \36a> = 6a 8) ‘\/111\2v = 4+/Tv
Vo7
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Simplify:

9) V48x'y’= axy3xy  10) V72x’= 6xy +2x

FEVT 3N

1) V43ab*= 3p%/5a  12) \/%gx2y2= 2xy VT
V945 VA AT




_Z;s el ﬁfeﬂfimﬁﬁ
g Today’s Independent Practice

DDDDDDDDDDDDDDDDDDDDDDDD

Simplify:

13) V150n%k* = 5hk>/ 6j 14) \/320n%k’= 8hk+/5]
Mo NoW

15) V8x*yz = 2x2 2yz  16) \294m*n3p*= TM 2np%4/6n
W)

49



_Z;ﬁ /‘/‘/‘”i ﬁreaﬁesﬁ

DDDDDDDDDDDDDDDDDDDDDDDD

Additional Practice:
Click on the links below to get additional practice and to check your
understanding!

Extra Video over Simplifying Radicals

Extra Practice with Simplifying Radicals

Practice Simplifying Expressions (no variables)

Practice Simplifving Expressions (with variables)



https://youtu.be/6vMIcDT8gQ8
https://cdn.kutasoftware.com/Worksheets/Alg1/Simplifying%20Radicals.pdf
https://www.ixl.com/math/geometry/simplify-radical-expressions
https://www.ixl.com/math/algebra-1/simplify-radical-expressions-with-variables

